RATING POINTEH
INZABNE+ (RAFEHEBY—K 8. 4)+(ByFAIVEXS. 3)— (A 58—t TrEX2)

QB RATING I <g#&# 1omEIUE/HE> (BHRIFESL)

Bz |Frvy| K28 | &S EFL saE | SRR B ETh%k| INT | YDS| TD [LoNG|miTh=|RATING
1 T SRR 4 |20 M= 4 154 103 6 1400 12 87| 66.9 161.2
2 T BIEX 16 (X s 4 116 13 21 1010 9 68| 62.9 158.2
3 T BfEHA 18 [/\K = 4 117 71 3] 891 4 47] 60.7 130. 8
4 T =2 YN 2 |IhNg —E 1 166 99 71 1127 6 42] 59.6 120. 2
5 T AR 15 |F%E =X 3 106 54 71 705 6 68| 50.9 112.3
6 T ITHK 1 EX EBE 4 129 62 6 743 9 47| 48.1 110. 2
7 T PEMK 8 |:EE H 4 179 92 6 991 2 38| 51.4 94.9

RLIBIE <HEEH 10EEk#FB / HE>

Bl [Jovy| K¥% [ HE | #Fa | FF [ABMESM| INT [YDS] TD [LONG[RIIE[RATING
1 T BEX 0 |/KIE % 4 58 25 2| 418 5 63| 43.1 125.2
2 T BE PN 17 [KWU B 3 37 21 2 270 3 35| 56.8 134.0
3 T BREH 15 |fE % 3 29 18 1 202 1 23| 62.1 125. 1
4 T BAR 13 [)kKK =H 3 22 14 0] 131 0 20| 63.6 113.7
5 T PN 16 [MHE # 1 18 12 o 112 0 191 66.7 118.9
6 T EBR 10 (B X 3 16 11 0 76 0 191 68.8 108.7
6 T E PN 8 |#  FrKER 3 30 11 3 92 0 23| 36.7 42.4
8 T PHEMK 17 |B5@ & 4 5 3 0 42 0 29| 60.0 130.6
9 T BIEX 8 | %EET 3 3 2 0 45 0 23| 66.7 192.7
10 T EBK 11 |E2#E fit 3 1 1 0 22 1 221100.0 614.8
10 T E PN 17 |[AM B 4 4 1 0 18 0 23] 25.0 62.8
10 T IIEK 14 |[FR KZE 3 2 1 0 -1 0 0] 50.0 45.8
10 T EBR 8 |HFH B 2 3 1 0 3 0 3| 33.3 41.7
10 T PPN 10 |[E# BBk 2 2 1 0 -2 0 0] 50.0 41.6
15 T PN 13 [#fE KE 3 1 0 0 0 0 0] 0.0 0.0
15 T ESPN 3 |HH 2 2 0 0 0 0 0] 0.0 0.0




